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ELECTIVE COURSE : ECONOMICS 

BECE-214 : AGRICULTURAL DEVELOPMENT  

IN INDIA 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer the questions as per the instructions 

given for each Section. 

Section—A 

(Long Answer Type Questions) 

Note : Answer any two questions from this Section 

in about 500 to 600 words each. 2 × 20 = 40 

1. What are the objectives of Public Distribution 

System ? How does procurement and its 

disbursal take place in PDS ? What are the 

factors that have led to its inefficiency ? 
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2. Discuss the importance of agriculture in the 

Indian economy. Also explain the linkages 

between agricultural and non-agricultural 

sectors. 

3. What are the causes of low agricultural 

productivity in India ? Examine the role of 

technological improvements in promoting the 

agricultural productivity.  

4. What is meant by water resource  

management ? What are the major issues in the 

water resource management of the country ? 

Section—B 

(Medium Answer Type Questions) 

Note : Answer any four questions from this Section 

in about 250 words each.  4 × 12 = 48  

5. Point out the prospects of agro-processing 

industries in rural India.  

6. Explain the nature of agricultural subsidies in 

India.  

7. Examine the major land reforms measures 

undertaken in India since independence. 

8. Describe the different types of cropping pattern 

prevalent in Indian agriculture. What are the 

factors that influence the same ? 



 [ 3 ] BECE–214 

  P. T. O. 

9. How is Market Access an area of International 

concern in agricultural trade ? Explain.  

10. What are the major components of land  

reforms ? Could the consolidation of 

agricultural holdings improve productivity ?  

 Section—C  

(Short Answer Type Questions) 

11. Write short notes on any two of the following in 

about 100 words each : 2 × 6 = 12 

(a) Cooperative movement in India 

(b) Impact of green revolution on agricultural 

labourers 

(c) Agro-climatic zones 

(d) Importance of warehousing in agriculture 
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